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QUESTION 1

What is the console port designation for an HP Comware switch? 

A. interface console 

B. con 0 

C. aux 0 

D. console 

Correct Answer: C 

 

QUESTION 2

Which 802.1X component seeks authentication? 

A. processee 

B. supplicant 

C. authenticatee 

D. authenticator 

Correct Answer: B 

 

QUESTION 3

What is the default username and password an administrator would use to log into a new HP MSM access point? 

A. username of "hp" and password of "hp" 

B. username of "msm" and password of "wireless" 

C. username of "admin" and password of "hp" 

D. username of "admin" and password of "admin" 

Correct Answer: D 

 

QUESTION 4

Which Layer 2 mechanism should be used to authenticate wireless or wired users before allowing them access to
network resources? 

A. 802.1X 
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B. MIMO 

C. 802.1Z 

D. WPA 

Correct Answer: A 

 

QUESTION 5

A network administrator is building two IRF domains: 

-

One domain for the two distribution layer switches 

-

One domain for the access layer switches 

Each access layer switch should have a connection to each distribution layer switch. In this design, how many access
switches can the administrator have in the access layer IRF domain before spanning tree is required to remove loops
between the two IRF domains? 

A. 2 

B. 4 

C. 6 

D. 8 

E. 12 

Correct Answer: A 

Latest HP2-Z30 Dumps HP2-Z30 VCE Dumps HP2-Z30 Practice Test

Powered by TCPDF (www.tcpdf.org)

Latest HP2-Z30 Dumps | HP2-Z30 VCE Dumps | HP2-Z30 Practice Test                                3 / 3

https://www.geekcert.com/hp2-z30.html
https://www.geekcert.com/hp2-z30.html
https://www.geekcert.com/hp2-z30.html
http://www.tcpdf.org
https://www.geekcert.com/hp2-z30.html
https://www.geekcert.com/hp2-z30.html
https://www.geekcert.com/hp2-z30.html

